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DELI PRICE LIST

Kidney beans: 39¢for 150g
Jalapeno peppers: €1-25 for 500g

Busy at Maths 6 - Sixth Class

ey

A local store has opened a new deli section.
Study the price list. Work out the cost per
kilogramme (kg) for each item.

' 150g of kidney beans cost 39c

150g = 39c K‘: E%g Wild mushrooms: €3-30 for 200g
idney Beans o

50g = 13c — (9c+3) gt’e;” ;h;{"BS-_ :32; fﬁrz 3é009

1009=26C — (13cx2) uiteda olives: ouctor g

Sun-dried tomatoes: €1-89 for 350g
Red peppers: €3-51 for 450g

' 1,000g (Tkg) = €260 4— (26c x 10)

1. What is the cost per kg of each of the following:

(a) Jalapeno peppers (b) Wild mushrooms - () Green chillies

(d) Stuffed olives (e) Sun-dried tomatoes (f) Red peppers

2. Work out the total cost for the produce in each basket.

- Y vy | Wy Wy
Kidney beans 450g 600g 500g
Jalapeno peppers 700q 900g 1 %kg
Wild mushrooms 500q 300g 800g
Green chillies 800g 700g 200g
Stuffed olives 375¢ 625¢ 875¢
Sun-dried tomatoes 4509 5509
Red peppers Tkg 550g 1-2kg
Total cost € € € € €
3. Write the following kg weights as grammes (g).
(o) gkg = g (b) 15kg= g (<) 0625kg =
(d) 0-35kg = g | (e) 2:45kg = g () 1-15kg=
4. (a) 75 of 2kg = g | (b) 15 0f5kg = g (O % of bkg=
(d) 15 of 3kg = g (o) 2of2kg= g () Zofbkg=
(g) 13 of 6kg = g | (h) 1}of12kg= g () fof11kg=
ct 10 tonnes of rock are needed to extract 30g of platinum.
Maths Fa Platinum is a precious metal rarer than gold. J
Challenge

produce 3kg of platinum?

At this rate, how many tonnes of rock would be required to J
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1. Complete these tables by calculating the missing weights for each one.

(@) [Value Coin Weight g(b) Value Coin Weight (©) [Value

M |€10 (g

4259| ) |€s0 | - [er00(
an | €10 | (D 75q é(ii) G [€73 | (e
qin| €10 | G ) 3129 qin| €3a| G
(iv)| €10 | (3 (iv) (iv)[€6:80 (el

(v) [€10

410g |  (v) | €15 6159 | (v) [€7:40

2. These tables show the total weight of the coins used. Find the value of the coins in €.

(@) | Weight | Coin | Value g(b) Weight | Coin | Value | (c) | Weight | Coin | Value
o | 2049 | Ca o | 20259 (o - | 5617
(ii) | 48459 €114 é(ii) 435g é(ii) 649-8g
(iii)| 561q %(iii) 1-02kgq (iii)| 2-262kg
(iv)| 36559 é(iv) 304-2g (iv)| 3,135g
(v) | 144-5¢ (v) 302-1qg (v) | 1-476kg

3. Calculate the weight for each of these amounts using the least number of coins.
(a) €590  (b) €360  (c) €270 : (d) €840  (e) €1130 | () €17-80
Weight: ; : 5 5 :

4. Eoghan went shopping and spent the following amounts in each shop. He used a €20 note as
payment in each shop. Calculate the weight of his change using the least number of coins.

Spent: (a) €1820  (b) €1740 : (c) €1550 : (d) €1790 : (e) €1630 : () €1570

Change:
Weight: { : ] : : —
Maths Fact 900 grammes is the weight of the heaviest recorded
African giant snail. It was 39-3cm long.
Challenge many of these record snails would it take to weigh 7kg 200g? 7‘ J
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